
Camaro

The nation's largest complete source for Camaro parts.

Classic
Automotive

Retail
Catalog

D
&

R

Hardware

Retail
Edition



166166166166166 D
 & R Classic Automotive Camaro Catalog

World Wide Web Orders:
www.drclassic.com

Tech Line/Order Line.....800-472-6952
Fax Line 24 HR ................ 800-390-0070

H
A
R
D
W
A
R
E

2018©

Bolts ........................................ 167-169
Bolt Kits .......................................... 170
Clamps ............................................ 170
Fasteners ................................... 171-172
Clock Knobs ...................................... 174
Sheet Metal Hardware Kit .................... 174
Hood Hinge Bolt ................................. 174
Clock Knobs ...................................... 174
Grommets ......................................... 174
Hood Hardware .................................. 175
Nuts ............................................... 176
Retainers ......................................... 177
Body Plugs ........................................ 177
Radiator Hardware ............................. 177
Screws ...................................... 178-179
Valve Cover Hardware.......................... 179
Springs............................................ 180
Shims A-Arm .................................... 180
Steering Hub .................................... 180
Engine Frame Mount ............................ 180
Sunvisor  Hardware............................. 180
Washer Strainer ................................ 180
Misc Hardware .................................. 181
Tie Strap......................................... 181
Misc Hardware .................................. 181
Metal Washer ................................... 181
Stud ............................................... 182

Hardware Contents
Section update 10-9-2018



H
A
R
D
W
A
R
E

The nation's largest complete source for Camaro parts 167167167167167

Most Orders Shipped Within 24 Hours!

• Alternator Adjusting Bolt Set…’67 up
Set includes bolt, washer and star washer.
T00319 .................................... $4.00 Set

• Battery Hold-Down Bolt…’67-’81
Battery hold-down bolt to retain clamp.
T00130 ................................. $0.50 Each

• Bellhousing Bolt, “A” Head, BB…’67-’68
Zinc plated bolt for attaching bellhousing to

engine block on ’67-’68 big block cars. One
set of six required per car.

T00313 .................................... $8.00 Set

• Bellhousing Bolt…’69-’79
T00314 .................................... $8.00 Set

• Bolt, ¼” - 20 x ½”
A00129-B ............................. $0.15 Each

• Bumper Bolt 1”
Bumper bolts feature carriage type head with

stainless steel cap pol ished to look l ike
chrome.

A00120 ................................ $1.99 Each

• Bumper Bolt 1-1/2"…’69
For use on ’69 outer front bumper mount.
A00118 ................................. $2.69 Each

• Bumper Bolt 1" Small Head…’67-’69
Small head style bumper bol.
A00118-A ............................. $4.50 Each

• Bumper Bolt 1-1/2" Small Head…’69
A00118-B .............................$4.50 Each

• Bumper Bolt 2" Small Head…’68
Two required for front bumper to corner.
A00119 .................................$3.50 Each

• Bumper Bracket Bolt Kit…’67-’69
Bolt kit to attach center bumper brackets to

frame horn..
A00472 ................................. $19.50 Kit

• Bumperette Bolt 1-5/16"…’69
Zinc plated bolt.
T00132-1 .............................$1.00 Each

• Bumper to Front Frame Bolt…’67-’69
T00212-B .............................$1.00 Each

• Caliper Mounting Bolt, 4-piston…’67-’68
Bolts necessary to install ’67-’68 4 piston

calipers to mounting bracket. Two pair per car.
T00303 .................................. $5.00 Pair

• Caliper Mounting, Bracket to Spindle
Y00136 ................................$4.00 Each

• Clutch Pressure Plate Bolt Set
T00318 .................................... $9.00 Set

• Console Hold-Down Bolt
Console hold-down bolt, 2 required per car.
T00001 .................................$1.00 Each

• Control Arm Bolt, Lower…’67-’69
T00078 .................................$3.00 Each

• Control Arm Bolt, Lower OE…’67-’69
Exact reproduction lower bolt.
T00078-OE ....................... $6.50 Each

• Bolt lower control arm '66-72
T00078 .............................. $3.00 Each

• A-Arm Upper Serrated Bolt 7/16
K00107-B ......................... $7.95 Each

• Control Arm Bolt Kit Upper…’67-’69
Upper control arm bolt kit with washers and

nuts.
K00107-kit .......................... $14.95 Kit

• Control Arm Bolt Kit Upper, Cross Shaft
Set of four bolts and washers.
T00328 .................................. $5.00 Kit

• Convertible Cross Brace Bolt
Convertible belly pan retainer bolt, 6 re-

quired.
T00002 .............................. $1.00 Each

•  Door Hinge to Door, Lower Screw…’67
T00433 .............................. $2.65 Each

• Door Hinge Bolt…’68-’81
Correct bolt for door hinge mounting. Bolts

are 5/16" recessed head with dog point and at-
tached small diameter washer.

A00028 ............................. $2.23 Each

• Distributor Hold-Down Bolt…’67-’82
Distributor hold-down bolt with double circle

headmark. One bolt required per car.
T00310 .............................. $1.25 Each

• Exhaust Manifold Bolt Kit, SB
T00006 ................................ $18.00 Kit

BOLTS BOLTS BOLTS



168168168168168 D
 & R Classic Automotive Camaro Catalog

World Wide Web Orders:
www.drclassic.com

Tech Line/Order Line.....800-472-6952
Fax Line 24 HR ................ 800-390-0070

H
A
R
D
W
A
R
E

• Exhaust Manifold Bolt Kit, BB
Reproduction exhaust manifold bolts for big

block engines. Kit includes 16 bolts.
T00003 ................................. $24.95 Kit

• French Locks, BB…’67-’72
French locks are installed behind exhaust

manifold bolts to prevent bolts from backing
out. One set of four required per car.

Z00070 ................................ $19.95 Set

• French Locks, SB…’66-’80
Z00035 ................................ $16.00 Set

• Fan Clutch to Water Pump Bolt..’67-’81
Fan clutch to water pump bolt. One kit of

four bolts  required per car.
T00265 ................................... $3.00 Kit

• Fender Bolt 5/16"
Original style 5/16" x 13/16" fender bolt with

indented head, fixed hex washer.
A00122 .............................. $0.30 Each

• Fender Bolt 5/16"-18 thread x 13/16" w/
washer

Correct style fender bolt has built in loose
washer with a recessed head. Used on
painted surfaces where fixed washer would
damage finish.

A00123 .............................. $1.00 Each

• Fender Bolt 3/8"x1-1/2", w/washer
A00121 .............................. $0.80 Each

• Flywheel to Crankshaft Bolt, Manual
Bolts for securing manual transmission fly-

wheel to crankshaft. One set of six bolts re-
quired.

T00309 .................................... $7.99 Set

• Fuel Pump Bolt 3/8" Hex Head
Correct fuel pump bolts--just like the origi-

nal bolts. Head size is 3/8 inch with built-in
washer behind. One pair does entire car.

T00261 ................................... $8.95 Pair

• Head Bolt Set Marked “M” BB…’67-’73
Big Block cylinder head bolt set contains 32

bolts with “M” headmark. One set per car.
T00311 .................................. $79.95 Set

• Hinge Bolt Rally Sport…’67-’69
Set of three Rally Sport hinge pivot bolt. Two

sets needed per car.
R00044 ................................... $4.25 Set

• Hinge to Housing Bolt RS…’67-’69
Eight inch long Rally Sport hinge to housing bolt.
R00045 ................................ $4.95 Each

• Bolt, Hood Hinge to Hood, Flat Tip
Flat tipped bolt used to attach the hood hinges

to the hood. 3/8” x 3/16”, w/1” conc washer.
A00125 ................................ $1.25 Each

• Ignition Coil Mounting Bracket Bolt
Correct reproduction ignition coil bracket mount-

ing bolt used to attach bracket to intake mani-
fold. One pair required per car.

T00298 ................................. $5.95 Each

• Intake Manifold Bolt Set, BB
Set of 16 washer-head intake manifold

bolts for big blocks.
T00004 ................................ $24.00 Set

• Intake Manifold “M” Bolt Head SB
T00005 ............................... $2.10 Each

• Intake Manifold “M” Bolt Head Set SB
Set of 12 washer-head intake manifold

bolts.
T00005-A ............................ $21.95 Set

• J-Arm to Spindle Bolt…’69
Set of two bolts required to attach J-arm to

spindle on the front end of cars with disc or
drum brakes. Fits all ’69 models. Two pair
per car.

T00305 ............................... $2.00 Each

• Leaf Spring Eye Bolt Set…’67-’81
Hard to find leaf spring front eye bolt and

nut.  Bolt 1/2”-13 x 5". Nut 1/2”-13. For all mono-
leaf and multi-leaf applications. Two sets re-
quired.

K00038 ................................. $3.75 Set

• License Plate Bolt
Bolts for mounting front license plate

bracket to body and license plate to bracket
or body. Also used to install ’69 front grille.

A00124 .............................. $1.00 Each

• Trunk latch striker 67-8
T00508 .................................. $3.99 Set

• Lower Shock Clip Bolt, front
T00251-S .........................Not Available

BOLTS BOLTS BOLTS



H
A
R
D
W
A
R
E

The nation's largest complete source for Camaro parts 169169169169169

Most Orders Shipped Within 24 Hours!

• Rear bumper bolt kit 69 OE Correct
T00506 ..............................  $21.95 Each

• Motor Mount Bolt Set, BB and Z-28…’69
Replacement motor mount bolt 7/16” x 3-1/2”

with washer and nut. Six piece set.
T00296 (Short) ....................... $5.50 Set

• Motor Mount Bolt Set, SB…’67-’69
• Motor Mount Bolt Set, BB…’67-’68

Replacement motor mount bolt 7/16" x 4-1/2"
with two washers, and two nuts. Six piece set..

T00297 (Long) ....................... $5.50 Set

• Oil Pan Bolt with Lock Washer SB
Small block requires fourteen T00211 and

four T00221-BB bolts. 18 bolts requires for Z-
28.

T00211 ................................. $0.50 Each

• Oil Pan Bolt 5/16"-18 x 1/2” with Lock
Washer BB

Correct oil pan bolt for Big Block engines.
Big Block requires 22 bolts.

T00211-BB .......................... $0.65 Each

• Pulley to Balancer Bolt, Fine Thread
3/8”-24 x 1” fine thread bolts used to attach

crank pulley to balancer. Three required.
T00337 ................................. $1.00 Each

• Pulley-Balancer Bolt, Coarse Thread
3/8”-24 x 1” coarse thread bolts used to at-

tach crank pulley to balancer. Three bolts re-
quired per car.  Fits coarse thread balancers.

T00337-C ............................. $1.00 Each

• Q-jet Carburetor Bolt, Front
Two piece kit of correctly marked long “RBW”

bolts for securing front of Q-jet carb to intake.
T00312 .................................... $8.00 Set

• Headlamp housings 69
T00505 ................................... $2.50 Set

• Rear End Cover Bolt 5/16"-18 x 3/4"
Replacement rear end cover bolt with built-

in washer. Order in set of 10 or 12.
T00222 ................................ $1.00 Each

• Rear Seat Upright Bolt "
Back seat upright bolts 67-9.
T00590 .................................. $4.99 Pair

• Seat Belt Bolt, Front, Chrome
T00214 ................................ $6.25 Each

• Seat Belt Bolt, Rear, non-Chrome
T00214-R ............................ $5.00 Each

• Seat Belt Bolt Set, Front/Rear…’67-’69
Set of correct style bolts for front and rear

belts. Includes four front and four rear bolts.
T00214-S ............................. $49.95 Set

• Bolt set for shoulder harness set/4
T00214-A ............................... $8.95 Set

• Door Hinge Bolt Kit 24-pc…’67
A00028-67kit ........................ $34.95 Kit

• Smog Pump Bolt, SB
Bolt to mount smog pump to bracket.
T00255 ................................ $3.69 Each

• Smog Pump Bolt Kit, 7-pc…’69
T00521 .................................. $11.99 Set

• Smog Pump Valve & Bkt Set…’69
T00522 ................................... $3.99 Set

• Starter Bolt, long
Replacement long starter bolt.
T00217 ................................ $3.99 Each

• Starter Bolt 3-5/8"
High torque starters with a cast iron nose

use this special bolt. Two required per car.
T00217-H .......................... $15.00 Each

• Starter Bolt, Short
Replacement short starter bolt
T00216 ................................ $3.99 Each

• Bolt, Steering Box…’64-72
Bolt size is 7/16-14 (coarse thread) x 4-7/16".

Usually require three bolts.
Z50148-B ............................ $3.49 Each

• Thermostat Housing Bolt Set, SB…’69-
’76

Set of reproduction thermostat housing bolts
with correct TR marking for attaching housing to
intake manifold on small block engines. One set
per car.

T00263 ................................... $5.99 Set

• Timing Cover Bolt 1/4" L Head..’67-’81
Accurate reproduction timing cover bolts have

correct head marking and attached star washer.
Fits big block and small block engines.

T00320 ................................ $0.85 Each

• Valve Cover Bolt 1/4”-20-5/8” TR
Correct replacement valve cover bolt with TR

marking. Fits big and small blocks.
T00210 ................................ $0.89 Each

• Water Pump Bolts SB…’67-’68
Four-piece set. 4-3/8" x 1-

1/2" TR bolts.
T00307 ................................. $10.00 Set

• Water Pump Bolt Set SB/BB…’69
Four-piece set. 4-3/8" x 1-

1/2" TR bolts.
T00307-9 ............................. $10.00 Set

BOLTS BOLTS BOLTS



170170170170170 D
 & R Classic Automotive Camaro Catalog

World Wide Web Orders:
www.drclassic.com

Tech Line/Order Line.....800-472-6952
Fax Line 24 HR ................ 800-390-0070

H
A
R
D
W
A
R
E

BOLT KITS BOLT KITS

• Bumper Bolt Kit…’67
Kit does front and rear bumpers and includes

ten 1 inch bolts, and nuts.
A00404 .................................... $10.95 Kit

• Bumper Bolt Set, Correct OE…’67
A correct small head bolt set that duplicates

the originals.
A00404-OE ............................. $19.95 Set

• Bumper Bolt Kit…’68
Contains eight 1 inch  bolts, 2 two inch bolts, and

ten nuts.
A00402 .................................... $12.95 Kit

• Bumper Bolt Set, Correct OE…’68
A correct small head bolt set that duplicates

the originals.
A00402-OE ............................. $19.95 Set

• Bumper Bolt Kit…’69
Kit contains eight 1 inch bolts, two 1-1/2 inch bolts,

and ten nuts. The 1-1/2 inch bolts attach to front
bumper corners through bushings A00223. The re-
maining bolts attach the front and rear bumpers
to brackets.

A00404-9 ................................. $10.95 Kit
• Bumper Bolt Set, Correct OE…’69

A correct small head bolt set that duplicates
the originals.

A00404-9OE ........................... $19.95 Set

•Bumper bolt kit 69 OE Correct
T00507 .................................... $14.95 Set

• Bumper Bolt Kit, Camaro…’70-’72
Kit contains ten 1" bumper bolts, and ten 3/8" nuts.
A00402-A ................................. $12.95 Kit

• Bumper Bolt Set, Correct OE…’70-’72
A correct small head bolt set that duplicates

the originals.
A00402-AOE ........................... $19.95 Se

• Bumper Bolt Kit, Camaro…’73
Kit contains ten 1 inch bolts, ten 3/8 inch nuts.
A00402-B ................................. $13.95 Kit

• Bumper Bolt Set, Correct OE…’73
Acorrect small head bolt set that duplicates the

originals.
A00402-BOE .......................... $19.95 Set

• Bolt for Rear Seat Back…’67-’69
T00007 ...................................... $3.95 Set

•Crank Damper Bolt/Washer 67-73 SB
T00530-SB ............................... $3.99 Set

•License plate bracket 69 (front)
T00504 .................................... $4.50 Set

•Power steering pump stud & bolt kit

T00560 .................................. $12.99 Set

• Thermostat Housing to Intake Bolts, BB
T00299 .................................. $5.00 Pair

•Waterpump bolt set 69
T00531 .................................... $6.99 Set

• Wheel house bolt kit…69
T00509 .................................. $19.95 Set

CLAMPS

• By-Pass Hose Clamp…’67-’74
Correct bypass hose clamps for big block

engines. Fits ’67-’74 cars.
M00006 ............................... $2.50 Each

• Fuel Hose Clamp, Green
Correct green fuel hose clamp for 3/8" fuel

hose. Four required per car.
T00127 ................................ $1.00 Each

• Fuel Line Clamp 3/8" Line…’69
Fuel line clamp to frame for single fuel line.

Use with fender bolt A00122, no washer. 7
required.

S00026 ............................... $3.40 Each

• Fuel Line Clamp to Frame, Coated
T00233-C ............................ $1.00 Each

• Fuel Line Clamp to Frame with Return

CLAMPS

S00028-D ............................ $4.89 Each

• PCV Hose Clamp
Correct spring clamp for PCV hose and

power brake hose.
T00128 ................................ $1.00 Each

• Power Steering Return Hose Clamp
M00122 ............................... $2.00 Each

• Return Vent Fuel Hose Clamp 5/16"…’69-
’81

Fuel hose pinch clamp for 1/4” return vent fuel
hose. Used on ’69-’81 Q-jet carburetors having a
return vent line from filter or fuel pump. Four re-
quired per car.

T00291 ................................ $1.00 Each

• Tower Hose Clamp Kit
Set of 8 tower hose clamps. Includes 2 upper

and 2 lower radiator hose clamps, and 2 each of
heater hose clamps.

M00336 .................................$19.95 Set
• Tower Style Hose Clamp 2 1/16"

Tower hose clamp for upper radiator hose.
M00386 ............................... $2.75 Each

• Tower Style Hose Clamp 2 3/16"
Tower hose clamp for lower radiator hose.
M00387 ............................... $2.75 Each

• Tower Style Hoses Clamp 5/8"
Tower hose clamp for heater hose
M00029 ............................... $2.75 Each

• Tower Style Hose Clamp 3/4"
Tower hose clamp for heater hose.
M00028 ............................... $2.75 Each



H
A
R
D
W
A
R
E

The nation's largest complete source for Camaro parts 171171171171171

Most Orders Shipped Within 24 Hours!

• Battery Cable Clip to Alternator Bracket
…’69-’70

This retaining clip holds the battery cable
to the upper alternator bracket for ’69-’70 mod-
els .

M00007 ............................. $11.99 Each

• Brake Hose Clip
Horseshoe clip used to attach brake hoses

into bracket on subframe.
Y00040-G ........................... $2.00 Each

• Barrel Clip 3/16", Large
 Just insert the studs of the emblem into

barrel clip from the front side.
A20117 ................................ $0.10 Each

• Barrel Clip 1/8", Small
Clip is installed into hole and stud into clip

from front side.
A30117 ................................ $0.10 Each

• Emergency Brake Cable Clip
Wire clip necessary to attach front emergency

brake cable to firewall, and rear cables to frame
rail. Three required per car.

A00043 ............................... $2.00 Each

• Fender Bolt Clip 3/8”
J nut for attaching lower front fender bolt to

body. Use with 3/8" bolt A00121.
T00238 ................................ $1.00 Each

• Fenderskirt Clip 5/16"
J-nut for attaching front fenderskirt, fender

extensions and other front end sheet metal to
body. Part of front end hardware kits T00029
and T00030.

A00126 ............................... $0.60 Each

• Heater Box Wire Retainer, Large…’67-’68
Use with mounting screw U00018-C.
M00513 ..............................  $3.95 Each

• Heater Box Wire Retainer, Small…’69
Use with mounting screw U00018-C.
M00514 ............................... $3.95 Each

 • Speedometer Cable Retaining Clip
…’67-’69

Firewal l  c l ip for manual transmission
equipped ’67-’69 cars.

M00264-C ......................... $11.50 Each

• Trim Screw #8 Clip
J-cl ip provides a nut. Use with screw

A00134.
A00127 ............................... $0.35 Each

• Vinyl Top Molding T-Bolt Clip…’67-’69
T-bolt for ’67-’69 vinyl top molding. 4 re-

quired for ’67-’68, and 2 required for ’69.
T00287 ................................ $1.49 Each

• Vinyl Top Molding Clip Set…’67-’68
Complete set of clips and screws neces-

sary to install vinyl top.
N00002 ................................ $12.95 Set

• Vinyl Top Molding Clip Set…’69
N00003 ................................ $18.95 Set

• Vinyl Top Molding Clip…’67-’69
Correct plastic vinyl top molding retainer

clip. Used on ’67-’68 and ’69 cars. Use with
T-bolt T00287 and screw T00237.

T00236 ................................ $0.40 Each

• Door Panel Fastener Set…’67-’69
Door panel fastener kit includes 12 door

panel clips and eight flush washer screws.
All the parts needed to attach deluxe or stan-
dard door panels to ’67-9 cars.

T00020 ................................... $9.95 Set

• Door Panel Mounting Clip Plugs…’67-
’69

Door panel mounting clip plugs for ‘67-69
Camaros. These plugs are inserted into the
door shell to secure the door panel mounting
clips. Set of 12.

T00209-P ............................... $9.95 Set

• Cowl Vent Panel Fastener Set
Cowl vent panel screws have correct

washer on hex head screw. One kit per car.
T00018 ................................... $3.00 Set

• Center Dash Carrier Clips Fuel/Clock
F00178-C .......................... $17.95 Each

• Center Dash Fuel/Clock Lower Clip
F00178-L ............................ $18.95 Pair

• Dash Pad Fastener Set…’69
’69 dash pad fastener kit includes, 6 clips, 4

nuts, and 6 screws.
T00017 ................................. $10.55 Set

• Center Dash Carrier Clips Fuel/Clock
F00178-L ............................ $18.95 Pair

• Dash carrier mounting clip w/stud
F00028-W ........................... $3.50 Each

• Dash housing mounting clip
F00028-X ............................ $3.50 Each

• Dash carrier clock lower mounting clip
F00028-Z ............................ $3.50 Each

• Instrument panel carrier clip set 69
F00028-S ............................. $16.95 Set

FASTENERS FASTENERS FASTENERS



172172172172172 D
 & R Classic Automotive Camaro Catalog

World Wide Web Orders:
www.drclassic.com

Tech Line/Order Line.....800-472-6952
Fax Line 24 HR ................ 800-390-0070

H
A
R
D
W
A
R
E

FASTENERS

• Glove Box Liner Fastener
T00021 .................................$0.25 Each

• Header Moldings Fastener Set, 5-pc
C00002 ...................................$5.00 Set

• Rear Spoiler Fastener Kit… ’67-’73
T00288 .................................... $3.50 Kit

• Window Seals Fastener Kit
T00023 .................................... $2.00 Kit

• Grill Fastener Kit, Standard or RS…’67-
’68

T00016 .................................... $9.95 Kit

• Grill Fastener Kit, Standard or RS…’69
T00016-9 ................................ $7.95 Kit

• Interior Screw and Fastener Kit…’67-’68

T00272 .................................. $24.95 Kit

• Interior Screw and Fastener Kit…’69
T00273 .................................. $24.95 Kit

The hardware you need to
properly reassemble your car’s body
bumper to bumper in one package.

Each label includes assembly manual
page number!

MASTER BODY FASTENER
KITS

• Master Body Fastener Kit, Standard…’67
T00400 ................................. $189.00 Kit

• Master Body Fastener Kit, RS…’67
T00401 ................................. $199.00 Kit

• Master Body Fastener Kit, Standard…’68
T00402 ................................. $189.00 Kit

• Master Body Fastener Kit, RS…’68
T00403 ................................. $199.00 Kit

• Master Body Fastener Kit, Standard…’69
T00404 ................................. $189.00 Kit

• Master Body Fastener Kit, RS…’69
T00405 ................................. $199.00 Kit

• Master Body Fastener Kit, Standard…’70-
’72

T00406 ................................. $189.00 Kit

• Master Body Fastener Kit, RS…’70-’72
T00407 ................................. $199.00 Kit

• Master Body Fastener Kit, Standard…’73
T00408 ................................. $189.00 Kit

• Master Body Fastener Kit, RS…’73
T00409 ................................. $199.00 Kit

• Master Body Fastener Kit…’74-’76
T00410 ................................. $199.00 Kit

• Master Body Fastener Kit…’77
T00411 ................................. $199.00 Kit

• Master Body Fastener Kit…’78
T00412 ................................. $199.00 Kit

• Master Body Fastener Kit…’79
T00413 ................................. $199.95 Kit

• Master Body Fastener Kit…’80-’81
T00414 ................................. $199.00 Kit

Typical kit includes fasteners to at-
tach: back-up lamps, battery tray, bumpers
and brackets & guards, bumper filler panel,
cowl panel, door latches, fenders & braces
& extensions &splash shields, grille &
brackets & moldings, headlamp bezels,
housing & adjusters, header panel, hood
& hinges, hood levelers, hood catch and
lock plate, hood catch support , hood moul-
dings, license plate brackets, marker
lamps, nameplates, parking lamps, tail-
lamps, trunk latch & striker, trunk lid, val-
ance, wheelhouses & brackets.

DOOR HARDWARE
MOUNTING KIT

• Door Hardware Mounting Set…’67
Hardware for door opening mechanism, door

latch, window tracks, upper glass sash, inner
sash and door opening rod guide brackets.20
Piece set.

T00365 .................................. $15.95 Set

• Door Hardware Mounting Set…’68-’69
27 Piece set
T00366 .................................. $19.95 Set

 Door Hardware Mounting Set…’70-’81
25 Piece set.
T00367 .................................. $21.95 Set

HARDWARE MOUNTING
KITS

• Headlamp Housing Hwd, RS…’67-’68
T00505-67RS ............................ $6.49 Set

• Headlamp Housing Hwd, STD…’67-
’68

T00505-67STD .......................... $7.49 Set

• Console Mounting Hwd…’68-’69
T00571 ....................................... $6.49 Set



H
A
R
D
W
A
R
E

The nation's largest complete source for Camaro parts 173173173173173

Most Orders Shipped Within 24 Hours!

• Master Interior Kit Standard  Coupe…’67
T00448 .................................... $95.00 Kit

• Master Interior Kit Deluxe Coupe…’67
T00449 .................................. $149.95 Kit

• Master Interior Kit Standard Convt…’67
T00450 .................................... $90.00 Kit

• Master Interior Kit Deluxe Convt…’67
T00451 .................................... $95.00 Kit

• Master Interior Kit Standard Coupe…’68
T00452 .................................. $149.95 Kit

• Master Interior Kit Deluxe Coupe…’68
T00453 .................................. $149.95 Kit

• Master Interior Kit Standard Convt…’68
T00454 .................................. $100.00 Kit

• Master Interior Kit Deluxe Convt…’68
T00455 .................................. $105.00 Kit

• Master Interior Kit Standard Coupe…’69
T00456 .................................. $115.00 Kit

• Master Interior Kit Deluxe Coupe…’69
T00457 .................................. $125.00 Kit

• Master Interior Kit Standard Convt…’69
T00458 .................................. $120.00 Kit

• Master Interior Kit Deluxe Convt…’69
T00459 .................................. $125.00 Kit

• Master Engine Kit Z-28 (302)…’67-’68
T00460 .................................. $99.00 Kit

• Master Engine Kit 327/350 w/o AC…67-68
T00460-327 .......................... $99.00 Kit

• Master Engine Kit 327/350 w/AC…67-68
T00460-AC ........................... $99.00 Kit

• Master Engine Kit SB…69
T00461 .................................. $99.00 Kit

• Master Engine Kit (302/350)…69-71
T00462 .................................. $99.00 Kit

• Master Engine Kit SB…72-73
T00463 .................................. $99.00 Kit

• Master Engine Kit Z-28 (350)…72-73
T00464 .................................. $99.00 Kit

• Master Engine Kit BB Iron Intake…67
T00465 .................................. $99.00 Kit

• Master Engine Kit BB Alum Intake…67
T00466 .................................. $99.00 Kit

• Master Engine Kit BB Iron Intake…68
T00467 .................................. $99.00 Kit

• Master Engine Kit BB Alum Intake…68
T00468 .................................. $99.00 Kit

• Master Engine Kit BB Iron Intake…69-72
T00469 .................................. $99.00 Kit

• Master Engine Kit BB Alum Intake…69
T00470 .................................. $99.00 Kit

• Master Engine Kit BB Alum Intake…70-2
T00471 .................................. $99.00 Kit

MASTER CHASSIS
FASTENER KITS

MASTER INTERIOR
FASTAENER KITS

• Master Chassis Kit, Disc BB…’67
T00415 ................................... $265.00 Kit

• Master Chassis Kit, Disc SB…’67
T00416 ................................... $265.00 Kit

• Master Chassis Kit, Drum SB…’67
T00417 ................................... $260.00 Kit

• Master Chassis Kit, L78 (396)…’67
T00418 ................................... $285.00 Kit

• Master Chassis Kit, Z/28…’67
T00419 ................................... $285.00 Kit

• Master Chassis Kit, Disc BB…’68
T00420 ................................... $280.00 Kit

• Master Chassis Kit, Disc SB Mono…’68
T00421 ................................... $285.00 Kit

• Master Chassis Kit, Disc SB Multi…’68
T00422 ................................... $275.00 Kit

• Master Chassis Kit, Drum SB Mono…’68
T00423 ................................... $260.00 Kit

• Master Chassis Kit, Drum SB Multi…’68
T00434 ................................... $270.00 Kit

• Master Chassis Kit, Disc BB…’69
T00435 ................................... $300.00 Kit

• Master Chassis Kit, Disc SB Mono…’69
T00436 ................................... $280.00 Kit

• Master Chassis Kit, Disc SB Multi…’69
T00437 ................................... $290.00 Kit

• Master Chassis Kit, Drum SB Mono…’69
T00438 ................................... $280.00 Kit

• Master Chassis Kit, Drum SB Multi…’69
T00439 ................................... $285.00 Kit

• Master Chassis Kit, BB…’70-’71
T00440 ................................... $345.00 Kit

• Master Chassis Kit, SB…’70-71
T00441 ................................... $310.00 Kit

• Master Chassis, SB Rear Sway Bar…’70-
71

T00442 ................................... $320.00 Kit

• Master Chassis Kit, BB…’72
T00443 ................................... $345.00 Kit

• Master Chassis Kit, SB…’72
T00444 ................................... $305.00 Kit

• Master Chassis Kit, SB  Rear Sway Bar…’72
T00445 ................................... $335.00 Kit

• Master Chassis Kit, SB…’73
T00446 ................................... $300.00 Kit

• Master Chassis Kit, Rear Sway Bar…’73
T00447 ................................... $335.00 Kit

MASTER ENGINE
FASTENER KITS

A typical kit includes fasteners to at-
tach: dome lamp, scuff plates, glove box
liner/sticker/door, insulation, rear view mir-
ror, ash tray console, quarter trim panel,
dash pad, name plate, heater control, steer-
ing column cover, steering column shroud,
instrument cluster-dash, dimmer switch,
turn signal lever, air vents at door jam, seat
track-floor, ventilation ducts adapter, radio
control shafts/knobs, seat back cables, sun
visor brackets/clamps, seat pivot covers,
seat back, door panels, filler moldings, kick
panels, window crank handles, coat hook,
shoulder harness retainers, door handles,
rocker panel cover plates.

A typical kit includes fasteners to at-
tach: oil pan, timing cover, fuel pump, igni-
tion coil, ignition wire brackets, carburetor
choke cover, air cleaner (order stud sepa-
rately), PVC hose, crankshaft damper,
crankshaft pulley, engine fan/clutch, oil fil-
ter valve, exhaust pipe, carburetor, valve
covers, exhaust manifolds, water pump,
distributor, water neck, engine fan, and in-
take manifold.

A typical kit includes fasteners to at-
tach: trans, crossmember, idler arm,
steering gear, suspension bumper
bracket, brake hose bracket, accelera-
tor lever and support, rag joint, trans in-
sulator, leaf spring front eye. Control
arms, steering linkage and ball joint,
shocks (front and rear), shock brackets,
master cylinder, brake valve, brake
cables, engine mounts, gas tank, fuel
hoses, pitman arm, grease fittings, steer-
ing shaft, speedometer cable, p/b
booster, p/b hose stabilizer bar end and
brackets, shackles, parking brake con-
trol, fuel lines, axle retainer plates, axle
housing cover, axle housing springs,
brake caliper bracket and shield.

The fasteners you need to
properly assemble your car’s
chassis in one package. Each
label includes assembly
manual page number!



174174174174174 D
 & R Classic Automotive Camaro Catalog

World Wide Web Orders:
www.drclassic.com

Tech Line/Order Line.....800-472-6952
Fax Line 24 HR ................ 800-390-0070

H
A
R
D
W
A
R
E

• Sheet Metal Hardware Kit, Front…’67-’68
Front sheet metal hardware kit includes all

the necessary nuts, bolts, washers, screws,
and clips required to install front end sheet
metal and grill.

T00029 .................................. $39.95 Kit

• Sheet Metal Hardware Set, Front…’69
T00030 .................................. $36.95 Kit

• Sheet Metal Hardware Kit, Front…’70-’81
T00030-7 .............................. $39.95 Kit

SHEET METAL
HARDWARE KIT

SPOILER MOUNTING
HARDWARE KIT

• Clock Knob
T00034 (Borg) ................ $14.95 Each
T00034-76 (‘76-’81 ........... $7.95 Each

CLOCK KNOBS LICENSE PLATE BRACKET
HARDWARE

License Plate Bkt  Hardware, Rear…’69
A00298-H ............................... $4.40 Set

• Spoiler Mounting Hardware Kit, Rear
…’67-’73

Rear spoiler hardware kit contains 4 acorn
nuts, and 4 washer nuts. One kit needed to
install rear spoiler to ’67-’69 trunk lid.

T00288 ..................................... $3.50 Kit

• Spoiler Installation Hardware, Front…’67-
’69

T00301 .................................... $3.95 Set

• Power Top Motor Grommet, Set
Set of three.
C00009 ................................... $3.99 Set

• Power Top Motor Grommet, Single
 Three required per car.
C00009-C ............................ $1.50 Each

• Throttle Arm Grommet, Plastic…’67-’69
Grommet installed in throttle arm along with

bushing M00055.
M00054 ................................ $2.00 Each

• Throttle Arm Grommet, Rubber…’67-69
M00055 ................................ $2.00 Each

• Wiper Motor Grommet
Original wiper motor grommet inserted in

wiper motor where bolted to firewall. Set of
three required per car. Use with screw
M00050.

M00049 ................................... $5.99 Set

GROMMETS

• Hog Rings, Set of 100
Set of 100 hog rings to attach seat covers

to seat frames. Usually enough to do all seat
covers.

T00289 .................................... $4.00 Kit

HOG RINGS

CLOCK KNOBSHOOD HINGE BOLT

• Hood Hinge Bolt Set, 8-pcs
T00545 .................................... $7.99 Set



H
A
R
D
W
A
R
E

The nation's largest complete source for Camaro parts 175175175175175

Most Orders Shipped Within 24 Hours!

• Hood Hinge, reproduction…’67-’69
A00146-repro (LH) ........... $37.50 Each
A00147-repro (RH) .......... $37.50 Each

• Hood Hinge, GM…'67-'69
A00146 (LH) ..................... Discontinued
A00147 (RH) ..................... Discontinued

• Hood Hinge, reproduction…’70-’81
A00146-70 (LH) ................ $56.95 Each
A00147-70 (RH) ............... $56.95 Each

• Hood Hinge, reproduction…’82-’92
A30146-R (LH) ................. $69.95 Each
A30147-R (RH) ................. $69.95 Each

• Hood Hinge Spring…’67-’69
Great reproduction hood hinge spring to use

with any steel hood.
A00148 ............................... $9.95 Each

• Hood Hinge Spring, Light Weight…’67-
’69

For use with fiberglass hoods.
A00148-LTWT .................. $17.50 Each

• Hood Hinge Spring, Heavy Duty…’67-’69
For cars with Super Sport Hood.
A00148-HD ......................... $9.95 Each

• Hood Hinge Spring…’70-’71
A00148-70 ........................ $12.95 Each

• Hood Adjuster Screw and  Bumper
Replacement hood adjuster screw with rubber

stopper and lock nut. One set required per car.
T00031 ................................... $7.50 Set

• Hood Adj, Center w/hidden wiper…’70-
’81

T00031-70 ............................. 14.95 Set

• Hood hinge adjuster stop set 70-81
T00031-70H ........................... 12.49 Set

HOOD HARDWARE NUTS NUTS

• Nut 10–32
A00130-N ............................. $0.10 Each

• Nut 1/4"–20
A00129-N ............................. $0.10 Each

• Bumper Bolt Nut 3/8"
Nut for securing bumper bolts.
A00131 ................................ $0.25 Each

• 5/16" Course Thread Nut
A00131-516 ......................... $0.25 Each

• Acorn Nut 1/4" x 20 (rear spoiler)
Acorn nut used to attach rear spoiler to trunk

lid. Four required per car. Part of complete
mounting kit T00288.

A00116 ................................. $0.50 Each

• Air Cleaner, Wing Nut, Black
Correct wing nut for securing Black air

cleaner lid to stud.
T00070-B ............................. $3.95 Each

• Air Cleaner, Wing Nut, Chrome
Correct Chrome wing nut for air cleaner lid

to stud. OE style.
T00070 ................................ $3.95 Each

• Bumper Bolt Nut, 3/8"
Correct style nut with loose washer for se-

curing bumper bolts.
A10131 ............................... $1.00 Each

• Nut, Lock Flange
T00250-NUT ....................... $0.50 Each

• Bumper Guard Insert Nut
Correct style pal nut for attaching bumper

guard rubber insert to guard.
T00270 ................................ $0.50 Each

• Core Support Hardware Nut 1/2"–13
T00278 ................................ $0.25 Each

• Dash Pad & Junction Block Nut
Nut with star washer may be used at wire

connection on junction block, and dash pad
mounting studs.

T00221 ................................ $0.25 Each

• Nut, Lower Control Arm…’67-’72
T00340 ................................ $0.35 Each

• Emblem Retainer Nut, 1/8"
Pal type thread cutting nut for attaching em-

blems and bezels. Also “speed nuts”.
T00219 ................................ $0.10 Each



176176176176176 D
 & R Classic Automotive Camaro Catalog

World Wide Web Orders:
www.drclassic.com

Tech Line/Order Line.....800-472-6952
Fax Line 24 HR ................ 800-390-0070

H
A
R
D
W
A
R
E

NUTS NUTS NUTS

• Emblem Retainer Nut, 3/16"
Speed nut cuts threads on stud as installed.
T00220 .................................. $0.20 Each

• Emblem Retainer Nut, 1/4"
Speed nut cuts threads on stud as installed.
T00220-4 .............................. $0.10 Each

• Headlamp Bezel Nut (plastic), OE…’67-
’68

Plastic nut installs into lower valance, header
and fender to accept screws holding headlamp
bezels and grill.

T00126 .................................. $0.90 Each

• Headlamp Bezel Nut, Plastic…’67-’68
Plastic nut installed into lower valance,

header and fender.
T00126-B .............................. $0.50 Each

• Headlamp Bezel Nut OE Sty10-pc…’67-
’68

T00126-A ................................. $8.75 Set

• Headlamp Adjuster Nut…’67
T00285 .................................. $1.50 Each

• Headlamp Adjuster Nut…’68-’69
A00142-N .............................. $1.50 Each

• Nut, 1/2" - 20 S.A.E. 3/4" hex
A00141 ................................. $1.00 Each

• Heater Box to Firewall Nut
T00256 ....................................... $1.00 Set

• Heater Box to Firewall Nut
T00256-S ................................ $0.20 Each

• Hood Adjuster Nut, 5/16"
Washer type jam nut for 5/16” bolts.
T00249 .................................... $0.50 Each

• License Plate Nut, Pop–In
Plastic insert for square hole in license plate

mounting bracket and various body parts. Be-
comes the nut for installing bolts.

A00133 ................................... $0.25 Each

• Lug Nut, 7/16"  Standard
Original lug nut used with any wheel having a

wheel cover or hub cap. 20 required per car.
L00028 .................................... $1.10 Each

• Lug Nut, 7/16" Stainless Capped
Stainless steel capped lug nut used on SS

wheels where the lug nut is exposed. 20 required
per car.

L00033 .................................... $2.50 Each

• Master Cylinder to Booster Nut
Correct type binder nut for attaching brake

master cylinder to firewall or booster.
T00242 .................................... $1.00 Each

• Motor Mount Nut
T00281 .................................... $1.00 Each

• Nut, 1/2”–20 S.A.E. 3/4” HEX
T00141 .................................... $1.00 Each

• Nut, 1/2”–20 S.A.E. Prevailing Lock Nut

T00348 .................................. $2.00 Each

• Nut & Bolt Kit 1/4"–20 x 1/2"…’67-’68
Nut and bolt may be used to install ’67-’68

grille to body.
A00129 .................................... $1.25 Set

• Nut & Screw Set, 10 x 32…’67-’68
Nut and Screw may be used to attach grille

moldings to grille on ’67-’68.
A00130 .................................... $0.25 Set

• Shock Retainer Nuts, Front
Two in set.
T00251 ..................................... $4.99 Set

• U-bolt or T-Bolt Nut
T00334 .................................. $0.50 Each

• Nut, Vent Window Stud, Chrome…’67
F00565 .................................. $4.95 Each

• Vent Frame Adjustment Screw,
Lower…’67

F00565-A .............................. $6.99 Each

• Well Nut Kit for Voltage Regulator
Set of three well nuts and screws for attach-

ing voltage regulator to core support. One set
per entire car.

T00100 ..................................... $5.95 Set



H
A
R
D
W
A
R
E

The nation's largest complete source for Camaro parts 177177177177177

Most Orders Shipped Within 24 Hours!

• Door Handle Retainer Clip
Retainer clip for inside door handles and

window crank handles.
T00342 ............................... $0.99 Each

• Door Panel Retainer…’70-’81
Original style door panel clips twist into

door panel and push into door frame. Twelve
clips required per car.

T00209-A ........................... $1.00 Each

• Door or Pillar Weatherstrip Retainer
Plastic push-in retainer button found on

many weather-strips.
P00033 .............................. $0.25 Each

• Door or Pillar Weatherstrip Retainer Set
Set of 10 retainers.
P00032 ................................. $1.50 Set

• Seat Hinge Cover Retainer
Replacement snap-in clip for holding seat

side hinge cover in place. Four required per
car.

T00036 ............................... $1.00 Each

• Firewall Insulation Retainer Plug, OE
Repro of correrct rubber insulation clips origi-

nally used from thefactory. They even have the
part number 3868790 on the head.

P00104-OE ........................ $1.75 Each

• Hood Insulation Retainers
Replacement hood insulation retainer, push into

hood. 20 required per car.
T00033 ............................... $0.50 Each

• Hood Insulation Retainers, Original
Style

20 Original style hood insulation retainers that
look just like the factory ones. Push into hood
for retaining insulation. One set required per car.

M00067 ............................... $18.95 Set

• Throttle Rod Retainer
Hair pin type retainer for holding throttle cable

or throttle rod in place.
T00257 ............................... $0.50 Each

• Throttle Rod E-clip Retainer
E-clip for securing throttle rod to carburetor
T00257-E ........................... $0.50 Each

• Heater Control Cable Retainer
Retainer for holding heater cables to stud.
T00266 ............................... $0.50 Each

• Door Inner Lock Rod Retainer Clip
F00495 ............................... $3.95 Each

RETAINERS RETAINERS

• Radiator Outlet Curved Neck Connect
DISCO PART
T00292 ........................... $100.00 Each

• Radiator Well Nut Screw
Screw used with well nut for installing ra-

diator or A/C condenser.
T00268 ............................... $0.75 Each

• Radiator Petcock, replacement
Replacement radiator petcock will work on

any radiator with 1/4" pipe threads
TR0072 .............................. $3.95 Each

• Radiator Petcock, Fluted, Original
Original style radiator petcock with fluted

end. Will fit any radiator with 1/4" pipe threads.
T00072 ............................... $7.00 Each

• Radiator Well Nut Set
Correct well nuts and screws needed to

install radiator to core support.
A00174 ................................. $5.00 Set

• Fender/radiator support braces 67-9
T00503 .................................. $1.19 Set

RADIATOR HARDWARE

• Cowl Plug, Plastic
Replacement 1/2" plastic plug on top of fire-

wall. One pair required per car.
T00230 .................................. $2.00 Pair

• Outer Wheelhouse Plug, Plastic
Replacement 3/4" plastic plug in outer

wheelhouse. Four per car needed.
T00231 ................................ $1.00 Each

• Rubber Plug, 1”
Replacement l” plastic plug in trunk exten-

sions ’67-8 cars. Two required per car.
T00232-R ............................ $1.79 Each

BODY PLUGS

• Rubber Plug, 3/4”
T00231-R ............................ $1.25 Each

• Trunk Extension Plug, Plastic…’67-’68
Replacement 1" plastic plug in trunk exten-

sion on ’67-’68 cars. Two required per car.
T00232 ................................ $1.00 Each

BODY PLUGS



178178178178178 D
 & R Classic Automotive Camaro Catalog

World Wide Web Orders:
www.drclassic.com

Tech Line/Order Line.....800-472-6952
Fax Line 24 HR ................ 800-390-0070

H
A
R
D
W
A
R
E

• Arm Rest Base to Door ScrewSet…68-69
Correct replacement screw for attaching arm

rest base to door on cars with standard inte-
rior. Available in sets of six.

T00323 .................................... $5.95 Set

• Arm Rest Base Screw Set 4-pc…’67
T00323-67 .............................. $4.00 Set

• Astro Vent Screw Set, 6-pc…68-69
Correct 3/4” flat head screws. Used to

attqach the Astro vent ducts to the cowl.
T00363 .................................... $7.95 Set

• Back-Up Lens Screw, RS
Set of four. Exact reproduction chrome

shoulder type screw for Rally Sport back up
lenses. One set of four required per car.

T00276 .................................... $4.50 Set

• Choke Spring Screw
Retainer screw for holding choke spring to

intake manifold.
T00252 ................................. $0.50 Each

• Chrome Trim Screw attach l arge washer
Interior finish screw with large washer attached

for kick panels, convertible rear quarter trim, etc.
T00045 ................................. $1.00 Each

• Coil Bracket Screw 10–24 x 2”
Long screw for clamping ignition coil to

bracket. Two required per car.d Correct
Chrome screw for attaching inside rear-view
mirror to mounting bracket One required per
car

T00225 ................................. $0.75 Each

• Washer bottle mounting kit STD 3pcs
T00352 ................................. $1.49 Each

• Console Screw, Chrome…’68-’69
Chrome screw for attaching shift plate to ’68-

’69 console.
T00044 ................................. $1.00 Each

• Console Door Screw, Black
Pan head screw needed to attach console

door hinge.
T00240 ................................. $0.15 Each

• Console Gauge Cover Screw…’68-’69
Black screw for securing ’68-’69 console

gauge cover to base.
T00244 ................................. $0.25 Each

• Convertible Speaker Grille Screw…’67-
’69

Chrome screw used to attach speaker grille
to housing on convertible rear speaker hous-
ing. Four required per speaker.

T00322 ................................. $0.50 Each

• Cowl Induction Valve Frame Screw…’69
10-24 x 1/2” Hex head type screw for install-

ing cowl induction valve frame to hood. Six
required.

U00018-C ............................ $0.35 Each

• Dash Lens Screw, Black…’69
Black screw used to hold ’69 dash lenses in

place. 8 required per car.
T00271 ................................. $0.15 Each

• Rearview Mirror Screw, Inside 67-69
Correct Chrome screw for attaching inside rear-

view mirror to mounting bracket One required per
car

T00050 ................................. $2.50 Each

• Door Grab Handle Screw, Deluxe…’68-
’69

Correct reproduction screws needed to
hold deluxe door grab handle to door. Avail-
able in sets of four screws.

T00324 .................................. $4.95 Set

• Ground Strap Screw to Firewall
T00259 ............................... $0.50 Each

• Headlamp Adjuster Screw…’67-’69
T00286 ............................... $1.50 Each

• Headlamp Dimmer & Washer Screw
T00223 ............................... $1.09 Each

• Headlamp Retainer Ring Screw
T00223 ............................... $0.50 Each

• Heater Box Clip Screw
T00253 ............................... $0.15 Each

• Quarter Seal at Bottom, Screw
T00241 ............................... $0.25 Each

• Rear Axle Pinion Shaft Lock Screw
For ’65-’72 12-bolt posi units.
K00081 ............................ $29.97 Each

• Radiator Well Nut Screw
Screw used with well nut for installing radia-

tor or A/C condenser.
T00268 ............................... $0.75 Each

• Rivet Type Screw
A replacement for the rivet originally welded in

place for installing vinyl top molding clips as well
as windshield molding clips. Is actually a small
screw with Phillips head. This screw is used for
vinyl top molding clips T00236.

T00237 ............................... $0.40 Each

• Vent Window Channel Screws…’67
F00565-F .............................. $5.95 Set

SCREWS SCREWS SCREWS



H
A
R
D
W
A
R
E

The nation's largest complete source for Camaro parts 179179179179179

Most Orders Shipped Within 24 Hours!

• Seat Track Screw to Floor
T00054 ................................. $1.00 Each

• Seat Track Screw to Seat Frame
T00054-F ............................. $1.69 Each

• Seat Track Screw Hardware Set 16 pcs
T00596 ................................. $14.99  Set

• Screws, w/washers, Seat Back Panel
T00576 ................................... $3.20 Pair

• Steering Column Cover Screw…’67-’68
#8-32 x 3/4” screws used to attach steering

column shroud to column on ’67-’68 cars. Four
required per car.

T00274 ................................. $0.20 Each
 Steering Column Lower Plate…’69

Set of 3
T00591 ................................. $7.49 Each

• Sunvisor Support Screw, Single, Coupe
Screws for one F00444 support, 4-piece.
F00444-single ........................ $3.25 Set

• Sunvisor Support Screw, Both, Coupe
Screws for two F00444 supports, 8-piece.
F00444-S ................................ $5.99 Set

• Chrome Screw w/Flush Washer #8 x 5/8"
T00347 ................................. $0.95 Each

• Trim Screw #8
A00134 ................................ $0.25 Each

• Vent Frame Channel Screw, Pair
F00565-CS ............................ $4.95 Pair

• Voltage Regulator Well Nut Screw
Screw used with well nut for securing voltage

regulator using well nuts. Three required per car.
T00269 ................................. $0.70 Each

• Wood Wheel to Hub Screw…’67-’69
Screw used when attaching ’67-9 wood style

steering wheel to hub. Six required per car.
T00224 .................................$1.00 Each

• Wood Wheel to Contact Ring Screw
Three required per wheel.
T00335 .................................$1.00 Each

• Weatherstrip Retainer Screw
Washer-head screw needed to instal l

weather-strips
T00243 .................................$0.30 Each

• Wheel Opening Molding Screw…’67-’69
Chrome washer-head screw used when in-

stalling wheel opening moldings.
T00065 .................................$0.35 Each

• Windowseal Screw
Small screws used to install belt line win-

dowseal to door and quarter panel.
T00055 .................................$0.20 Each

• Wiper Motor Screws
Correct windshield wiper motor mounting

screw to attach motor to firewall. May also be
modified for mounting the wiper transmission.

M00050 ................................... $4.61 Set

• Horn mounting screws 67-9 (Please see
horn relay kit)

T00577 .................................. $3.99 Pair

• Valve Cover Spreader Tabs w/Bolts, BB
Complete set of bolts and spreader tabs

for securing big block valve covers
T00041 ................................. $21.00 Set

• Valve Cover Spreader Tabs w/Bolts, SB
Eight TR short bolts and 8 steel retainers.
T00027 ................................. $15.00 Set

• Valve Cover Screw Kit, Z-28
Correct screws for install ing aluminum

valve covers on ’69-’74 Z-28. 1-1/4” long with
and “M” on the head. Eight screws per kit.

T00067 ................................... $8.00 Set

VALVE COVER HARDWARE

SCREWS SCREWS

• Roofrail, w/Set of Retainer Screws…’67-
’69

Set of 24 screws with correct profile and large
diameter head. Holds the roof rail and “A” pillar
weatherstrip channel to the body.

J00091-S ............................. $19.95 Set

• Roofrail w/Set of Retainer Screws…’70-
’81

Set of 36 screws with the correct profile and
large diameter head. Holds the roofrail and
“A” pillar weatherstrip channel to the body.

J20091-S ............................. $29.95 Set

• Sun Visor to Bracket Screw
T00351 ................................ $1.00 Each

• Exhaust hanger self tapping screw
T00548-X .............................. $.79 Each

SCREWS



180180180180180 D
 & R Classic Automotive Camaro Catalog

World Wide Web Orders:
www.drclassic.com

Tech Line/Order Line.....800-472-6952
Fax Line 24 HR ................ 800-390-0070

H
A
R
D
W
A
R
E

• Headlamp Bucket Adjuster Spring
Springs required when installing headlamp

to housing. One pair required per car.
T00071 .................................. $5.18 Pair

• Hood Hinge Spring…’67-’70
Hood hinge spring to use with any steel

hood.
A00148 ............................... $9.95 Each

• Return Spring V-8
This is an original style return spring.
M00258 ............................... $5.95 Each

• Return Spring, Hi-Performance
Correct green colored throttle return spring

for cars equipped with special high perfor-
mance engine.

M00258-GR ........................ $7.95 Each

• Throttle Return Spring, Green…’67-’68
M00258-67GR .................... $7.95 Each

• Hood Hinge Spring, Light Wt…’67-’70
Light weight spring used for fiberglass hood.

Necessary to prevent warpage of glass hood.
A00148-LTWT .................. $17.50 Each

• Hood Hinge Spring, Heavy Duty…’67-’69
For cars with Super Sport Hood.
A00148-HD ......................... $9.95 Each

• Hood Hinge Spring…’70-’71
A00148-70 ........................ $12.95 Each

SPRINGS

• Bushings, Sunvisor
Bushings only. Used when installing sunvi-

sor into support bracket on coupe or convert-
ib le .

T00008S ............................. $1.75 Each

• Tip, Sunvisor
Rubber tip only, no bushing. Used when in-

stalling sunvisor. For coupe or convertible.
T00009T ............................. $1.50 Each

SUNVISOR  HARDWARE

ENGINE FRAME MOUNT

• Engine Frame Mount Bolt Kit
18 Piece kit.
A00229-kit ............................. $7.95 Kit

• Washer Bottle Pick-Up Strainer
T00059 ............................... $3.45 Each

WASHER STRAINER

• A-Arm Shim, 1/16"
Shims are used to align front sheet metal.

Shim is 1/16 inch thick. Multiple shims may be
needed. Thick and thin shims are usually nec-
essary.

T00294 ................................ $0.90 Each

• A-Arm Shim, 1/16" Delco
T00294-D ............................ $1.89 Each

• A-Arm Shim, 1/32"
T00293 ................................ $0.90 Each

• A-Arm Shim, 1/32" Delco
T00293-D ............................ $1.89 Each

• A-Arm Shim, 1/8"
T00295 ................................ $0.90 Each

• A-Arm Shim, 1/8" Delco
T00295-D ............................ $1.89 Each

• Body Panel Shim, Thick, 1/8"
A00137 ............................... $0.35 Each

• Body Panel Shim, Thin, 1/16"
A00138 ............................... $0.35 Each

Correct A-arm shim for adjusting caster/
camber on front suspension. Made with cor-
rect zinc plating and 1/2" slot. Available in
three thickness.

SHIMS A-ARM

STEERING HUB

• Steering Hub Ret Nut, non-Tilt…’67-’69
T00356 .................................. $1.99 Each

• Steering Hub Retaining Nua, Tilt…’69
T00357 .................................. $1.79 Each

• Steering Hub Washer, non-Tilt…’67-’69
T00358 .................................. $3.50 Each



H
A
R
D
W
A
R
E

The nation's largest complete source for Camaro parts 181181181181181

Most Orders Shipped Within 24 Hours!

• Exhaust Manifold Washer
Hard to find, thick 1-piece washer for small

block exhaust manifold bolts. 16 required per
car.

T00213 ................................ $0.65 Each

• Fenderskirt Washer, 1-1/2”
Large fender washer is used on inner front

fendershirt to lower bracket. Use with bolt
A00122. Part of front end hardware kit.

A00140 ............................... $0.25 Each

• Fenderskirt Washer, Cupped OE style
Correct cupped washer is used on inner

front fenderskirt to fender on top two inner
bolts. Use with bolt A00122. Four required per
car.

A00140-A ............................ $2.75 Each

• Front Bumper Serrated Washer
Correct serrated washer for attaching front

bumper to frame. Eight required per car.
T00212 ................................ $2.75 Each

• Gauge Mount Bracket Washer…’68-’69
Large diameter washer for securing console

gauges to console or attaching Rally Sport
bellcrank to support bracket on ’68-9 cars.

T00098 ................................ $0.75 Each

• Lock Washer, 7/16" Split Type
T00011 ................................ $0.40 Each

• Lock Washer, 3/8" Split Type
Lock washer used on bumper brackets.
A00128 ............................... $0.25 Each

METAL WASHERMISC HARDWARE

• Harness Strap for Washer Hose, Plastic
Part of windshield washer hose kit. One re-

quired.
T00332 ................................ $1.00 Each

T00331

• Nylon Cable Tie, 5” Natural
Part of windshield washer hose kit, 2 re-

quired.
T00331 ................................ $0.50 Each

• Wire Tie Strap
Plastic, adjustable.
M00444 ............................... $2.00 Each

• Hold-Down Strap, Inner Fender
Plastic straps to secure wiring to inner front

fender skirt. Two required per car.
M00097 ............................... $2.00 Each

TIE STRAP

• Screws, Fuse Panel to Firewall…’67-69
T00572 ................................... $4.95 Pair

• Bolts, Carpet Guard to Firewall…’69
T00575 .................................. $4.95  Pair

• Bolts, Carpet Guard to Firewall…’67-’68
T00575-67 .............................. $4.95 Set

• Bolts and Nuts, Steering Column to
Dash…’69

T00574 .................................... $6.19 Set

• Screws, Steering Column to Dash…’67-
’68

T00574-67 .............................. $3.99 Set

MISC HARDWARE

• Crank Damper 396/454
Set of 3 pieces.
T00530 ............................... $ 6.29 Each



182182182182182 D
 & R Classic Automotive Camaro Catalog

World Wide Web Orders:
www.drclassic.com

Tech Line/Order Line.....800-472-6952
Fax Line 24 HR ................ 800-390-0070

H
A
R
D
W
A
R
E

• Exhaust Manifold Stud, Stainless
Set of six stainless steel exhaust manifold

studs and nuts for big or small block cars.
Z00022 ................................ $22.95 Set

• Exhaust Manifold Stud with Nuts
Set of six studs, 3 long and 3 short, along

with brass nuts to be installed into exhaust
manifolds. The long studs are used for in-
stalling heat riser on RH exhaust manifold.

T00061 ................................ $13.95 Set

• Water Pump Stud, Big Block…’67-’68
This stud is required when installing up-

per alternator bracket to front of the water
pump on ’67-’68 big block cars. May also be
used as the ground terminal for the negative
battery cable on ’67-’68 cars.

T00300 ............................... $4.95 Each

• Lower Shock Plate Stud…’68-’81
Stud attaches to multi-leaf lower anchor

plate. Two required per car.
K00041 .............................. $6.99 Each

• Cooling fan to clutch stud 67-8
T00370 ................................ $1.29 Each

• Taillight Stud and Nut Kit…’69
Complete set of 10 taillight mounting studs

and nuts for ’69 cars. One kit per car
T00064 ................................. $12.00 Set

• Wheel Stud, Front
Replacement wheel stud for front wheel disc

or drum brake hub. Ten required per car.
T00247 ................................ $2.00 Each

• Wheel Stud, Rear
Replacement wheel stud for rear brake

drum. Ten required per car.
T00246 ................................ $2.00 Each

STUD STUD STUD


	Bolts 
	Bolt Kits 
	Clamps 
	Fasteners 
	Clock Knobs 
	Sheet Metal Hardware Kit 
	Hood Hinge Bolt 
	Clock Knobs 
	Grommets 
	Hood Hardware 
	Nuts 
	Retainers 
	Body Plugs 
	Radiator Hardware 
	Screws 
	Valve Cover Hardware 
	Springs 
	Shims A-Arm  
	Engine Frame Mount 
	Sunvisor  Hardware 
	Washer Strainer 
	Misc Hardware 
	Tie Strap 
	Misc Hardware 
	Metal Washer 
	Stud 

